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2. What 1s the ccncentrazzicr

CHM151 Quiz 4 25 PTS FALL 2006 NAME: K%/
v

SHOW ALL WORK FOR CREDIT

Atomic Masses: Na 22.99, P 30.97, C 12.01, O 16.00, H 1.008, S 32.07, As 74.92
1. In 3 titraztion of 35.00 mL of 0.737 M H,SO4, mL of a 0.827 M KOH
sclution is required for neutralization.
5:304aq v 2KOHamg —  2HOy, +  K;S04(aq)
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(M) of sodium ions in 4.57 L of a 0.847 M NazP

solution?
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3. Calculate the corcentraticr (M) of arsenic acid (H3AsO4) in a solution if 25.00
nL ¢of that solutlion :as;;-vd 35.21 mL of 0.1894 M KOH for neutralization.
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wmat I1s the concentration (M) of CH30H in a solution prepared by dissolving 11.7
g of CHz0d :n sufficient water to give 230 mL of solution?
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(4Pts) Complete and balance each of the following:

__\_?__HC103(aq) - 3}75/0 ((Q} + /C)/Q (CZ ‘53\)3 ia
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a. ___AJ(OH)3(S) +

b. _ 2 HiPOusy + __3 CaOHpwy — 6 H0W) + (u . (PO, 5



